
MARTELETE SDS PLUS 127V
Posição Peça Referência Qtde Garantia da peça / Meses

 1  90524565  COLAR  1  24

 2  90524563  PROTETOR  1  12

 3  90558298  ANEL TRAVA  1  12

 4  90594643  RETENTOR  1  24

 5  90549908  MOLA  1  24

 6  90592418  CAIXA DE ENGRENAGENS  1  24

 7  90611195  ROTOR 120V  1  24

 8  90599902  ESCOVA DE CARVAO 120V  2  24

 9  90599684  PORTA ESCOVA 127v  2  24

 10  90549817  PROTETOR DO ROLAMENTO  1  12

 11  90584579  DEFLETOR  1  24

 12  330065-05  PARAFUSO M4 X 10MM T20ACO BZ  2  24

 13  90611196  ESTATOR 127V  1  24

 14  90614897  ETIQ. DE ESPEC.STEL503K 127V  1  24

 15  90607102  ETIQUETA  1  12

 16  90592861-02  CARCACA  1  24

 17  329301-00  PRESILHA DO CABO ELETR.DW300  1  12

 18  330065-05  PARAFUSO M4 X 10MM T20ACO BZ  2  24

 19  629648-00  PROTETOR DO CABOELETRICO  1  12

 20  N466184  CABO ELETRICO DWP849XB2/BR "SC"  1  12

 22  90597459-01  INTERRUPTOR 127V  1  24

 23  330065-07  PARAFUSO M4 X 16MM T20ACO BZ  5  12

 24  90567050  SUPORTE  1  24

 25  90550379  JUNTA  1  24

 26  90549488  PIVO  1  24

 27  90549884  ARRUELA  2  24

 28  90550523  PARAFUSO  2  24

 29  90549588  TRAVA  1  24

 30  330065-14  PARAFUSO M4 X 35MM T20ACO  4  24

 31  90550377  PINO  1  24

 32  90550363  ESFERA  1  24

 33  90558481  JUNTA  1  24

 34  90558296  ANEL TRAVA  2  12

 35  90549885  ARRUELA  1  24

 36  90550375  MOLA  1  24

 37  90567045  ENGRENAGEM  1  24

 38  90592404  EIXO DE SAIDA  1  24

 39  90549888  ARRUELA  1  24

 40  90549635  PISTAO  1  24



 41  90558558  ANEL ORING  1  12

 42  90549489  CILINDRO  1  24

 43  90549946  MOLA  4  24

 44  90558300  ARRUELA  1  24

 45  90595118  CONJ. EIXO PINHAO  1  24

 46  90558664  ARRUELA  2  24

 47  90550384  ROLAMENTO AXIAL  1  12

 48  90585594  DEFLETOR  1  24

 49  376556-11  EMPUNHADURA LATERAL  1  12

 50  372814-00  PROFUNDOR  1  24

 51  90584578  CAPA DO BOTAO  1  24

 52  90558562  ANEL DE BORRACHA  1  12

 53  90584577  BOTAO SELETOR  1  24

 54  90550392  MOLA  1  24

 57  90587110  CONDUTOR  1  24

 58  90587109  CONDUTOR  1  24

 59  90549812  TRAVA  1  24

 60  90549820  PLACA LATERAL  1  24

  STEL503K-BR  MARTELETE SDS PLUS 127V  1  24


